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Question: 1 
   
What are indirect costs to security? 
 
A. Harm to Reputation Loss of goodwill Loss of employees Harm to employee morale 
B. Harm to Reputation Loss of goodwill Loss of employees Insurance Costs 
C. Increased Alarm Rates Indirect Career Progression Loss of employees Harm to employee morale 
D. Harm to Reputation Loss of goodwill Loss of contract Harm to Business 
 

Answer: A     
 

Question: 2 
   
What three factors are driving the growth of private policing? 
 
A. Economic and operational issues (Fear of) crime and violence Order maintenance 
B. Economic and operational issues (Fear of) crime and violence Cost replacement 
C. Economic and operational issues Access to firearms Order maintenance 
D. Legal and Security issues (Fear of) crime and violence Order maintenance 
 

Answer: A     
 

Question: 3 
   
What is the operating principle of ISO’s management systems standards? 
 
A. The Plan-Do-Check-Act cycle 
B. Direction and Coordination 
C. Organisational Demand 
D. International alignment 
 

Answer: A     
 

Question: 4 
   
When is containment a good strategy? 
 



A. When theft is the adversary’s goal. Containment involves preventing the adversary from leaving 
the site with stolen items. 
B. When assisted by Law Enforcement 
C. When access to firearms is available 
D. When there is company fraud or embezzlement 
 

Answer: A     
 

Question: 5 
   
What are the three levels of assessment for violent risk among known subjects? 
 
A. Initial Threshold Comprehensive 
B. Initial Threshold Violent 
C. Initial Assessment Comprehensive 
D. Immediate Threshold Comprehensiv 
 

Answer: A     
 


